8, 16, AND 24 GALLON TANK AND SADDLE

| TEM

IS

00 ~N o

11
12
13

14

@Vm o

REPLACEMENT PARTS

DESCRI PTI ON

Poly Tank

8 gallon

8 gallon (with Agitator mounting hole)
16 gal l on

16 gallon (with Agitator mounting hole)
24 gal lon

24 gallon (with Agitator nounting hole)
Agi tator Assenbly

8 gallon

16 gal l on

24 gal lon

Strap, Assenbly, Saddle

Buckl e, Over-Center

Strap, Assenbly, Tank

8 gallon

16 gal l on

24 gal lon

Bolt, Hex Cap, 3/8"

\Washer, Flat, 3/8"

Nut, Hex, 3/8"

Washer, Lock 3/8"

Tank Saddl e

Tank Lid

Agitator Munting Hole Plug Kit(not shown)
Saddl e and Strap Assenbly (ltens 3-10)
8 gallon

16 gal l on

24 gal lon

Gasket, 5" Fillwell Viton

RAVEN PART #

117-0159- 536
117-0159- 537
117-0159- 538
117-0159- 539
117-0159- 540
117-0159- 541

117-0159- 542
117-0159- 543
117-0159- 544
063-0171-039
321-0000- 283

063-0171- 040
063-0171- 045
063-0171- 046
311-0054- 105
313-2300- 015
312-1001- 037
313-1000- 022
118-0159- 007
118-0159-012
117-0159- 555

117-0159-552
117-0159- 553
117-0159- 554
219-0000- 090

(9) 2 PLACES

054-0159-109
4/98 REV.B
SHEET 10F 1



